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5(aceg) without calculator 9. a) {03
7(bdfhy) (without a calculator) o.VJ
8 (a, C, d, f, g, l,J R 1) without a calculator
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Ng Warm Up Math 9 A\ ¥ ¢
A J fp' :
1) Find the perfect square whose square root isa) 0.6 b 3
Q 5

0.6 « 9
ogro e [3) - 55
2) Is the following fractions or decm‘?alss perfeft squares? Explain

a) 0.64vp7 b) 625 c) 497
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THE FIRST 20 PERFECT SQUARES:

12 =
22
32
42
52
62
72
Q2
9 =
102 =

1x1
2x2
3x3
4x4
5x5
6x6
7x7
8x8
9x9

10x10 =

@@@@@@@@@é

112 =
122 =
132
142
152
162
172 =
182 =
192 =
202 =

11x11=
12x12 =
13x13 =
14x 14 =
15x 15 =
16 x 16 =
17x17 =
18x18 =
19x19 =
20x 20 =

121
144
169
196
225
256
289
324
361
400
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How far up the wall does the ladder reach?
Try to do this without calculato;/

=0
c a2+ b2 = ¢2
9m ‘O 22 + b2 = Q2
4@
> m b2 = 81-4
G bz = 77

N

8.8 m

2 _ LY b2
0" b s

Ikl
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PYTHAGOREAN THEOREM:

We know that a right triangle is a triangle
containing a 90 °angle.

Hypotenuse

Leg (always the longest side) a

Leg

Hypotenuse Leg
c2= a2+b2 b2=c2_aZ

10
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Pythagoras found out that when you have
a right triangle, Jeg +leg’ = hypotenuse

at+b*=—c*
@
&
aA=axa 6@’ "
A =@ § g
[
b leg
A =bxbj
A =2
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Calculate how far up a wall a 6.1 m long
ladder will reach if its base is 1.5 m from
the wall.

Leg
b2 = ¢2 - a2
6.1m b2=6.12 - 1.52
b2=37.21 - 2.25
1.5m b2=34.96

b2=/34.96
b=5.9m

12



Square Roots of Non-Perfect Squares
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Perfect Squares...
16

Non-Perfect
Squares...

15

o T
167

19
J16 = 4 V8 =2.8284271...

Non- perfect Squares cannot be written as
a product of two equal numbers

14
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Estimating square roots of |

non-perfect squares. - L
~>
Estimate the square root of 7.5. (6
Method #1 Method #2

Using a Calculator:

{75 = Q.

Using Benchmark¥:

Determine what two perfect squares 7.5 is between.
’Gf/

>
9\0«96‘3

15



Estimate the square root of 130
50

VL/

1
1.5
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Estimate the square root of 3 . 2 =0. "3
7 7
with \A{i thou t
Method #1 +  Method #2

IIIIIIIIIIIIIIIIIIIIIIIIIIII>

1. Find the perfect s osest to
the ator and denominator.
\‘ oM}
oA
Sore (F

I.I

*IIIIIIIIIIIIIIIIIIIIIIIIII

1. Change the fraction to a decimal,
then using calculator
estimate the square root.

Vog3 = 0.5

2. Take the squafe roots
of the number$ you have chosen.

N/
oL 0l

0.0

‘IIIIIIIIIIIIIIIIIIIII
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Please Complete
Questions
Pages
18 and 19.

4) a,c,e
5) a,c,e :
6a,c E\*S

/)a, c,e

18
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